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H il F
p.39 NER 4 1THE 2 H —j +; ((FEZEEH)
p.39 | MRIEFRHE 2 ITEREANE 2 | {- {+ (FELH)
|
p.39 | MRIERHE 3ITEHRENE 2 | —1 +1 (FFE5LH)
TH
p.39 | fiAERAERER 21TEDF | —K +K (FF54H)
p.39 | NWitERHERER 3fTEHS T | 1 -1 (FF5£H)
p.55 4.3 Hfllo Ey Ey (RRFOERE)
p.55 4.4 Ao B E, (RAFOEH)
p.55 4.5 G3Gy DEMORHID iz | By ZNE
p.58 3 Hfllo By Ey (RRAFOLEHE)
p.73 | T256 1fTHRK6.1 OF v | K— FEKX R— FRK (K = 1 0%
Frav a)
p.76 | T25 11THM 6.2 OF v | K— FEHK e P (K = 1 0%
Fav =)
p.78 6.3(a)(b) DA 0.1,1,10 0.01,0.1, 1, 10, 100
p.82 | 417H KEB DA ANZACTH T BIREDK | IBEHE.
ERN
p.83 THo 1THRK 71 0% v | R— FRK A= F#HK (K =1 0%
Trav ‘)
p.87 | k25 4fTH w, OFH | BMAE /Mt %E 5 % 5 £ R A
p.90 | 7.2 OREH — AT PAHE A EEZR
p134 | 113 £ ol — AR R
p.142 | X 11.16 ;4 %5 2 H els e Ls
p.147 | k25 747H (LA AL (EAHE 24 (5
p.147 | IR 11.1 AR ez aremy (K =1)
p.148 119 Misiss (O) o | 7rvy | L2 o 7ay 2| K, &8
p.148 11.10 Gp(s) K.G,(s)
p.148 11117 (2 2F7) Gp(s) K.Gp(s)
p.148 11.12 K K,
p.149 11.13 K K,
p.149 | 25 16,13 17H K =100 K. =100
p.149 | 25 11417H 42.25 42.54
p.149 | T2 5 447H (2 2°FN) N (HIER)




=i SR (S 1E

p.149 | T2 5 31TH 3.095 6.193

p.149 | T2 5 21TH —3.095 —6.193
p-149 TH»5 117H 51.60 62.33

p.150 11.14 N (HIFE)

p-150 11.14 3.095 6.193

p-150 11.14 —3.095 —6.193
p-150 11.14 51.60 62.33

p-151 x5 117H 51.60 62.33

p-151 kx5 317H T = 0.01357 Ty =0.0112
p-151 25 417H T5 = 0.02768 T5 = 0.0229
p.151 | T2 5 1117H (2 2°F) N (HIER)

p-151 T»5 10417H =4.771 = 9.542
p.151 | T2 947H 4771 —9.542
p-151 T2»56 81TH W, = H7.18 W = 76.18
p.151 | T25 61TH =57.18 = 76.18
p-151 THs 417H T, =0.01 Ty = 0.0076
p.151 | T2 & 31TH T, = 0.03 Ty = 0.0228
p-151 5 21TH W, = 57.18 Wm = 76.18
p.152 11.15 e (HIBR)

p.152 11.15 — 4771 = 9.542
p-152 11.15 —4.771 —9.542
p-152 11.15 =57.18 =76.18
p.154 | B 11.2 ERERR D) o (K=1)
p.154 | T2 5 917H K > 100 K. > 100
p.154 | F»e 8547H K =100 K, =100
p.155 | k25 6,78 4TH 13.8 13.9

p.155 | k25 7T1TH ke 4 tbe @B T DT 4 >~
p.155 | k25 81TH N (HIER)

p-155 E»5 1017H = 2.040 =0.2042
p.155 | Exp 1347H Wy Wy

p.156 11.16 Na GLLES)

p-156 11.16 = 2.040 = 0.2042
p-156 11.16 13.8 13.9

p.178 | T2 917H = 3

p195 | 3t (g) \ﬁ\/101\0ﬁ+9171 \ﬁ\/201\0ﬁ+8171
195 | % (2) \/10\{33-91—1 \/20\{33-81—1
195 | 3t (h) V10 \{70+91—1 V20 \f70+814
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p.201 | X 15.10 (3 2°FM) T i xzx (RZ ML)
p.214 | X+ (3 22 o B, Ey

p214 | K& (Ex5 4HEOK) | Gy DA E, &8
p.225 | Fho 7/7H % 1E (A1 + Ag)s® (A1 + Ap)s?
p-230 | T2 5 91TH , HIE SR Thdrr =
p.230 | T2 5 84TH Gp =~ (HIBR)

p.231 | E25 7917H K =10 K.=10

p.231 | E»5 114TH 2.3 2.4

p.231 | k25 1117H 14 15

p.231 | k25 1217H 31 30

p.231 | E25 17,19 4TH 5.8 5.83

p.231 | E25 1917H (2 A1) NG (HIIFER)

p.231 | EA5 20,21 47H 7.63 15.31

p.231 | T2 5 7,6217H 3.25 4.31

p.231 | F75 417H T, =0.13,T, = 0.76 T, = 0.096,T» = 0.559
p.232 v (HIBR)

p.232 7.63 15.31

p.232 —7.63 —15.31

p.232 3.25 4.31

p.232 5.8 5.83

p.232 2.3 2.4

p.232 | T»56 717H , Ml 5 Thrr &
p.232 | T»5 641H G, =~ (HIIER)

p.233 | E»5 8,10 17H K =10 K. =10

p.233 | E»5 1317H 1.25 1.22

p.233 | 25 1117H ke s a4 > bt mREBEE T D s 4 v
p.233 | F»5 101TH N (HIIFER)

p.233 | T»5 84TH 0.013 0.1135

p.233 | F5 547H wg wp

p.233 | T25 317H T, =769 T, =88.11
p.234 N (HIIFER)

p.234 0.013 0.1135

p.234 O RBET;

p.234 769 88.11

p.234 = 1.25 =1

p.244 | 142 Fo5 4 15H 20V/3421 V2V20V24581-1
p244 | 14.2 T/ 5 417H =t V2V20 28




H 37 e i
4= _ V/24/ 201245811
p.244 | 142 TH5 117H 20v/54+/2-1 V2y/20V2+581-1 £
p244 | 142 F6 117H 3 V22028
p.244 | 14.2 F5 117H V6 V2VA02 51
P = 1 2 2
p.245 | 2,3 47H (1751M) L (7)) JE+a
4= 4= 1 2 1 2
p.245 | 23 17H (F5IM) 16 L& +a
4= 1 2 1 2
p.245 | 417H ﬁ<ﬁ+q) 1% +a
p.245 | F25 91TH 2 2F | b2 br?
1 Rl EFESR
H B E 1E
p.22 25 417H weighing function weighting function
p.28 3.2% T»s 31TH fiAEDY ¢ 0T MiAHDY 6 T T
p.49 I u(t) uw(t) =0 (t<0),u(t) =
1 (t>0)
p.50 K 4.16 OF 1 HOH T Ag Ay
p-50 A 4.16 DE 2 HDO T A App1s+ Ao
p.61 TH»5 11417H AAHBH AR O FIHAE X HrAHBHAR DX
N 4= R(s) Y (s)
p.137 | X11.13 0 1{THO%S A | (s —pP) (s — p{?)
52%HDIH
p.184 fﬁ 14.9 ay —aq
p.185 :_EQ 14.14 aq —aq
p.185 | ® 14.16 a —ay
p.210 | k28 3TFHOFEHONF | —K(T1/Thw? + 1) —K(T'Tow? — 1)
p210 | E» 5 5T7HD tan™! @ | Ty Thw? + 1 T Thw? — 1
2
p.212 | £ 2fTHOHBE(LEZD | w? + 2500 w(w? + 2500)
PaNSs
p216 | k25 3/BHOMDOMER | + —
(BA) OFEFORE
‘ ’ 20dBm 7-’10dB/decl®
20dB :2010310(1‘): ® 20103;071‘)\;/ ‘
0dB : e 0dB ; o
E«2() l/B 1 ; e 2~20 1B/d ©
RULATY %C': 50 N RERAT R T ©
p.222 | BB T A RN —40dB/déc
p223 | bt 2 BHORAER | — BN iv — KA 1+ 0.15




